

Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

	Purchase Order #:	Date Shipped:	Shipped Via		Reference Nun	ıber#
QNS-24-004		15-Sep-24	Sea	P01395 3rd run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 1</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 2</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 3</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 4</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 5</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
	Received in good condition l	by (print)	Total Net Total Gros	ss Weight	500	page 12
	Received in good condition by	(signature)	Total Cas Total	Piece		
					ling/Air Waybill Nu	ımber
Received		ntact May Vang Nutr	1		SU6394041380	



 Sold To:
 Qingdao Nutrasumma
 Shipped to:
 Qingdao Nutrasumma

 Health Technology Co., Ltd.
 Health Technology Co., Ltd.
 Health Technology Co., Ltd.

 Room 207,Building 1 No.88, Kaifeng Road,
 Room 207,Building 1 No.88, Kaifeng Road,
 Shibei District, Qingdao, China

 Shibei District, Qingdao, China
 Shibei District, Qingdao, China
 Shibei District, Qingdao, China

	Purchase Order #:	Date Shipped:	Shipped Via		Reference Nun	ıber#	
QNS-24-004		15-Sep-24	Sea		P01395 3rd run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 6</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 7</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # :</u> 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 9 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 10</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
	Received in good condition l	oy (print)	Total Ne Total Gros	-		2000 12	
	Received in good condition by	(signature)	Total Cas Total	Piece	see page 12 etof Lading/Air Waybill Number		
)SU6394041380	linder	
Received		ntact May Vang Nutr					



 Sold To:
 Qingdao Nutrasumma
 Shipped to:
 Qingdao Nutrasumma

 Health Technology Co., Ltd.
 Health Technology Co., Ltd.
 Health Technology Co., Ltd.

 Room 207,Building 1 No.88, Kaifeng Road,
 Room 207,Building 1 No.88, Kaifeng Road,
 Shibei District, Qingdao, China

	Purchase Order #:	Date Shipped:	Shipped Via		Reference Nun	nber#	
QNS-24-004		15-Sep-24	Sea		P01395 3rd run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 11</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 12</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 13</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 14</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 15</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
	Received in good condition l	by (print)	Total Net Total Gros	5			
	Received in good condition by	(signature)	Total Case/Pallet Total Piece		see page 12		
					ling/Air Waybill Nu	Inder	
Received					OSU6394041380		



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

Purchase Order #: Date Shipped:			Shipped Via		Reference Nun	ıber#
QNS-24-004		15-Sep-24	Sea	P01395 3rd run		
Item#	Description	Quantit Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 16</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 17</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 18</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 19</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 20 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
	Received in good condition l	by (print)	Total Net	t Weight		
	Received in good condition by		Total Gross Weight Total Case/Pallet Total Piece		see page 12	
	Received in good condition by	Bill of Lading/Air Waybill Number				
Received	Date		СС)SU6394041380		
Received Date:						



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

	Purchase Order #:	Date Shipped:	Shipped Via		Reference Nun	ıber#
QNS-24-004		15-Sep-24	Sea	P01395 3rd run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 21</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 22</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 23</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 24</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 25</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
	Received in good condition l	oy (print)	Total Net	-		
	Dessived in sect and distant to	(aignotune)	Total Gros Total Cas Total	se/Pallet	see j	page 12
	Received in good condition by	(signature)			ling/Air Waybill Nı	ımber
Received	Date:			СС)SU6394041380	



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

	Purchase Order #:	Date Shipped:	Shipped Via		Reference Nun	nber#
	QNS-24-004	15-Sep-24 Sea		P01395 3rd run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 26</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 27</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 28</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 29</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 30</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
	Received in good condition l	by (print)	Total Net	-		
				ss Weight se/Pallet Piece	see page 12	
	Received in good condition by	(signature)	Total Piece Bill of Lading/Air Waybill Number			
Received	Date:			CC	DSU6394041380	



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

	Purchase Order #:	Date Shipped:	Shipped Via		Reference Nun	ıber#
QNS-24-004		15-Sep-24	Sea	P01395 3rd run		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 31</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 32</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 33</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 34</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 35</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
	Received in good condition l	by (print)	Total Net	-		
	Dessived in good condition by	(signature)	Total Gros Total Cas Total	e/Pallet	see j	page 12
	Received in good condition by	(signature)	Total		ling/Air Waybill Nı	ımber
Received	Date:			CC	DSU6394041380	



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

	Purchase Order #:	Date Shipped:	Shipped Via		Reference Number#		
	QNS-24-004	15-Sep-24	Sea	P01395 3rd run			
Item#	Description	Quantity Shipped:		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 3</u> 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 37</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 3</u> 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 39</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 40</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
	Received in good condition l	by (print)	Total Net	t Weight			
				ss Weight se/Pallet	see page 12		
	Received in good condition by	(signature)	Total Piece Bill of Lading/Air Waybill Number				
Received	Data	-	СС)SU6394041380			
Received		ntact May Vang Nut					



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

	Purchase Order #:	Date Shipped:	Shipped Via		Reference Nun	ıber#
	QNS-24-004	15-Sep-24	Sea	P01395 3rd run		
Item#	Description	Quantity Shipped:		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 4</u> 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 42</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 4</u> 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 44</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 45</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
	Received in good condition by (print)			Total Net Weight Total Gross Weight Total Case/Pallet See page 12		page 12
	Received in good condition by	(signature)		Total Piece Bill of Lading/Air Waybill Number		
Received	Dato)SU6394041380	
Received		ntact May Vang Nut				



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207,Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

	Purchase Order #:	Date Shipped:	Shipped Via		Reference Number#		
	QNS-24-004	15-Sep-24	Sea	P01395 3rd run			
Item#	Description	Quantity Shipped:		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 46</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 47</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 4</u> 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 49</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 50</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
	Received in good condition l	by (print)	Total Net	t Weight			
				ss Weight se/Pallet Piece	see page 12		
	Received in good condition by	(signature)	Total Piece Bill of Lading/Air Waybill Number				
Received	Dato	-	СС	DSU6394041380			
Receiveu			16.1	ara any problems			



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

	Purchase Order #:	Date Shipped:	Shipped Via	Reference Number#		
	QNS-24-004	15-Sep-24 Sea		P01395 3rd run		
Item#	Description	Quantity Shipped:		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 51</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 52</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 53</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 54</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 55</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg
	Received in good condition l	by (print)	Total Net	_		
	Received in good condition by (signature)			Total Gross Weight Total Case/Pallet Total Piece		page 12
	Acceived in good condition by	[signature]	Bill of Lading/Air Waybill Number			
Received	Date:	-	cc	SU6394041380		



ingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
lth Technology Co., Ltd.		Health Technology Co., Ltd.
Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
i District, Qingdao, China		Shibei District, Qingdao, China
1	lingdao Nutrasumma Ilth Technology Co., Ltd. ',Building 1 No.88, Kaifeng Road, ei District, Qingdao, China	llth Technology Co., Ltd. /,Building 1 No.88, Kaifeng Road,

	Purchase Order #:	Date Shipped:	Shipped Via		Reference Number#		
	QNS-24-004	15-Sep-24 Sea		P01395 3rd run			
Item#	Description	Quantity Shipped:		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 56 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 57</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2408125	334.08kg	385kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Partial Pallet # 58</u> 5 cases, 12 ct per case = 60 60 bottles total Pallet Size: 122*102*16.5cm		2408125	27.84kg	35.08kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	<u>Pallet # 59</u> 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2405319	334.08kg	385kg	
	Received in good condition	by (print)	Total Net	t Weight	1940)4.48kg	
		-	Total Gross Weight		22365.08kg		
	Designed in second second in the	(-i)	Total Case/Pallet				
	Received in good condition by	(signature)	Total Piece41820pcBill of Lading/Air Waybill Number			A	
Received				COSU6394041380			